
Part Number Description
 
 PDACBOAKEY    3-WAY KEY FOR BOA PEDAL
 PDSP001HH    PDP 1" TUBE JOINT BOLT AND WING NUT 
 PDAC0004     HEEL BRACKET, BOA SINGLE PEDAL
 PDAC0005     HEEL FOR BOA PEDALS/HH
 PDAC0006     FOOTBOARD CLAMP, BOA SINGLE
 PDAC0007     SCREW, FTBD CLAMP, BOA SINGLE
 PDAC0022     SCREW,HEEL PEDAL PLATE,BOA HH S&D PEDAL
 DWSP074     DRUM KEY SCREW 1/4-20 X 9/16" W/ COLLAR
 PDAC342     RUBBER FOOT (3 PACK)
 DWSP356     FELT WASHER (HI HAT SEAT)
 DWSP357     STANDARD UPPER TUBE ASSEMBLY FOR HI-HAT
 DWSP358     21" STANDARD LENGTH UPPER ROD W/ NUT
 DWSP363     LOWER SPRING ROD
 DWSP374     HI HAT SPUR
 PDSP379     PDP BRANDED DW STYLE CLUTCH BOA
 DWSP381     METAL WASHER FOR HH CYMBAL SEAT
 DWSP715     7/16" SCREW
 PDAC781     PDP HINGED MEMORY LOCK - 3/4"
 DWSP2004     6MM HI-HAT CLUTCH DRUM KEY SCREW
 DWSP2047     HI HAT SEAT ASSY W/O FELT/WASH
   
  
 
 
  
         

PDHHBOA PDP Hi-Hat Stand

PDACBOAKEY

SP358

SP363

PDAC781

PDSP001HH

PDAC0006
PDAC0007

PDAC0005

PDAC0004

SP715
SP715SP715

PDAC0022
PDAC0022PDAC0022

PDAC342

PDAC342

SP356

SP381

SP2047

SP2004

SP074

SP074

SP074

SP074

SP374
SP374

PDSP379

      
      

      
    T

ECHNOLOGY
      

      
      

    TM

A revolutionary fu
lly

adjustable pedal w
ith

smooth, ultra-quiet a
ction

     
     

     
    a

nd:

     
 Unique Springless/

    H
ingless Design

 Hyper-D
rive Direct L

inkage 

 Heavy-D
uty Constru

ctio
n

B  0  A
 

Bow Actio
n Pedal S

ystem

SP357

PDHHBOA PDP Hi-Hat Stand



Part Number Description
 
 PDACBOAKEY    3-WAY KEY FOR BOA PEDAL
 PDSP001HH    PDP 1" TUBE JOINT BOLT AND WING NUT 
 PDAC0004     HEEL BRACKET, BOA SINGLE PEDAL
 PDAC0005     HEEL FOR BOA PEDALS/HH
 PDAC0006     FOOTBOARD CLAMP, BOA SINGLE
 PDAC0007     SCREW, FTBD CLAMP, BOA SINGLE
 PDAC0022     SCREW,HEEL PEDAL PLATE,BOA HH S&D PEDAL
 DWSP074     DRUM KEY SCREW 1/4-20 X 9/16" W/ COLLAR
 PDAC342     RUBBER FOOT (3 PACK)
 DWSP356     FELT WASHER (HI HAT SEAT)
 DWSP357     STANDARD UPPER TUBE ASSEMBLY FOR HI-HAT
 DWSP358     21" STANDARD LENGTH UPPER ROD W/ NUT
 DWSP363     LOWER SPRING ROD
 DWSP374     HI HAT SPUR
 PDSP379     PDP BRANDED DW STYLE CLUTCH BOA
 DWSP381     METAL WASHER FOR HH CYMBAL SEAT
 DWSP715     7/16" SCREW
 PDAC781     PDP HINGED MEMORY LOCK - 3/4"
 DWSP2004     6MM HI-HAT CLUTCH DRUM KEY SCREW
 DWSP2047     HI HAT SEAT ASSY W/O FELT/WASH
   
  
 
 
  
         

PDHHBOA PDP Hi-Hat Stand

PDACBOAKEY

SP358

SP363

PDAC781

PDSP001HH

PDAC0006
PDAC0007

PDAC0005

PDAC0004

SP715
SP715SP715

PDAC0022
PDAC0022PDAC0022

PDAC342

PDAC342

SP356

SP381

SP2047

SP2004

SP074

SP074

SP074

SP074

SP374
SP374

PDSP379

      
      

      
    T

ECHNOLOGY
      

      
      

    TM

A revolutionary fu
lly

adjustable pedal w
ith

smooth, ultra-quiet a
ction

     
     

     
    a

nd:

     
 Unique Springless/

    H
ingless Design

 Hyper-D
rive Direct L

inkage 

 Heavy-D
uty Constru

ctio
n

B  0  A
 

Bow Actio
n Pedal S

ystem

SP357

PDHHBOA PDP Hi-Hat Stand


